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Parer 11
(PHILOSOPHY)
1. Match Lisz-I with List-1I and select the correct 1. OfFPLI @R OffFPLIl @3 (% (et @3 ey
answer from the codes given below: ArE O IR B AoF cee efar e |
List-1 List-11 @1 OBl
(Author) (Works) (FBfETe) (5T
(a) IS\_/aralqsna (1) Yzizﬁtr.z o (2) W (i) QIoPE
(o) Vitayana G Sakhyakariks (b) I (i) TR
(c) Patafjali (i11) Pa ‘aIT aba arma- (©) o (i) fibrRaz
samgraha .
(d) Prasastapada (iv) Nyayabhasya (d) et (v) <D
Codes: W\ONW(:) b © @
@ b © @ R
(A) () (D) GiD) (V) ((‘; 831) ((lil)) ((lili‘)) gz;
(B) iy ) ) () © G Gv) (@) (i)
©) @G @Gv) @) (id) D) (v) Gi) () )
(D) (v) (i) ) (@)
2. The term Udbhid is: 2. Tfen #vfb & ¢
(A) ridha pada (A) G o7
(B) Yoga-riidha pada (B) QIR oW
(C) Yougika pada O«‘ﬁf. )
(D) Yougika-ridha pada © I A
(D) oD 21
3. Consider the Assertion (A) and Reason (R), and 3. 2few@R (A) 9% JE<1 (R)-43 sifaFFe
select the correct answer from the codes given below : e Flke o (A 7T Sedt @ ¢
Assertion (A) : Maya, according to Advaita sifoearrr A) 3 SEOEYE Nto W SkE
Vedanta, is positive ignorance. Sean|
Reason (R) : Maya, is beginningless e (R) & il o
C(Zﬁ)le; h (A) and (R) d(R)i h e
ot an are true an is not the - 5
correct explanation of (R). (A) (A)kﬂz%(f) THRA G (R), (A)-4
(B) (A) is true, but (R) is false. B) (4) ) s (R) B
(C) (A) is false, but (R) is true. (B) ;W’ g
(D) Both(A)and (R) are false, but (R) is not the (©) (A) W, 15 (R) o7 |
correct explanation of (A). (D) (A) @< (R) Texg Wy, 8 (R), (A)-=
A5 I T |
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4. According to whom ‘Sabda is an independent
Pramana’?
(A) Bauddha, Nyaya and Vaisesika
(B) Nyaya, Vaisesika and Jaina
(C) Jaina, Samkhya and Nyaya
(D) Samkhya, Vaisesikaand Advaita Vedanta

5. Who defined perception as ‘Pratyaksam
kalpanapodham’?
(A) Gautama
(B) Dignaga
(C) Nagarjuna
(D) Dharmakirti

6. The view that ‘liberated soul is devoid of
knowledge and bliss’ is accepted by—

(A) Samkhya
(B) Nyaya-VaiSesika
(C) Advaita
(D) Carvaka

7. Which of the following is the knowledge of
omniscient, according to the Jaina Philosophy?

(A) Kevalajiiana

(B) Matijiiana

(C) Yogaja pratyaksajiiana
(D) Avadhijiana

8. Which among the following is an anastikaya
dravya according to the Jaina Philosophy?

(A) ajiva
(B) Jiva

(C) akasa
(D) Kala

X—4

4. I NCS #7930 Fog AT 2
(A) @, TR @R @RS
(B) T, (R @3 Ceel
(C) Tere, 3T @R ™
(D) A4, RIRE @R ST (@S

5. ‘AOrFd FHAADT — AR G2 T (T
R ?

(A) (oTres
(B) fgmial
(C) olrg
(D) #Rf$

6. & I @I € Sl — 2 T8 fb Gz —
(A) AR
(B) (A<
(C) =ta®
(D) B

7. Fefafesfm S @Wt ol S
FfeE’ -7 Tl ?

(A) (FeTEEl

(B) oy

(C) Qe Zopsrea)s
(D) il

8. fwfoiieafm s =T tommea sepE
G T2

(A) &g
(B) @7
C) e
(D) a7



9. The Carvakas do not admit ether (akasa) as
material element (bhiita), because—

(A) Akasa is not perceptible

(B) Akasa has sound as its quality
(C) Akasa is one and eternal

(D) None of the above

10. Consider the Assertion (A) and Reason (R) and
select the correct answer from the codes given below:

Assertion (A) : The Carvaka philosophers
do not admit anumana as

pramana.

Reason (R) : They believe that the
invariable concommitance
relation cannot be established.

Codes:

(A) Both (A) and (R) are true, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

11. Match List-1 with List-1I and select the correct
answer from the codes given below :

List-1 List-11
(a) Veda (i) Rta
(b) Srimad Bhagavadgita (ii) Triratna
(c) Jainism
(d) Buddhism
Codes:
(@ M © @
(A) (1) (@ @) @[Qv)
B) ) (@Gv) (i) (ii)
©) (1 @G @dv) (id)
(D) (i) @) (@) (Gv)

(ii1) Pafcasila
(iv) Lokasamgraha

X-5 09-11

9, SIRIFN! SNFAF I TOTATAC FIFIF T 1,
FA—

(A) SNEH ASFFCIS 7

(B) ONFIe¥a =0 NS @9 (R
(C) I @3 = feiey

(D) Tol=a @IoE 77

10. 2foE@7 (A) 93 J&<177 (R)-43 e e
ey e Asrouf (s Alds Teafs e ¢
gfeer (A) ¢ 5IdT wfasee Sese-
AR FIPF T 1 |
s O R e anfeens
=Afoot Tt T |

<17 (R)

TRCFO ¢

(A) (A) @3 (R) T2 77, R (R) 2¥1 (A)-F
ATGE A |

(B) (A)43(R) T2y, T8 (R), (A)-T A0S
T T |

(C) (A) 1%y, € (R) e |

(D) (A) e, &% (R) 797 |

11. OfFPL 932 OfFm-I1-93 (TG @6t «3e &y
2TE HFO IR I AIF T&ds (qe 7 ¢

©Iferer-1 OIferL-I1
(a) ™ (i) o
(b) oISl (ii) f@7w
(c) T (iii) /9647
d) @& (v) @EFTRaZ
TRCPO :

(@ () (© (@
(A) (1) @G @) (@Gv)
B) (1) (@Gv) (@) (ii)
© @ (@) @Gv) (i)
(D) @ii) (i) @ ((v)
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12. What is the nature of Brahman according to the
Upanisad?
(A) Nirguna
(B) Saguna
(C) Nirguna and Saguna both
(D) None of the above

13. “EkamSad Viprabahudha badanti.” — In which
text has this view been expressed?

(A) Samaveda

(B) Rkveda

(C) Brhadaranyaka Upanisad
(D) Chandogya Upanisad

14. “Arthakriyakaritvam laksanam sat”— 1is the
view advocated by—

(A) the Buddhists
(B) the Jainas

(C) the Mimamsakas
(D) the Advaitins

15. Akhyativada is the theory of error advocated
by—
(A) the Vedantins
(B) the Bhattas
(C) the Prabhakaras
(D) the Naiyayikas

16. According to Vaisesika ghatabhava resides on
the ground by the relation of—

(A) Samavaya

(B) Samyoga

(C) Svaripa

(D) None of the above

X-6

12. ST SRR Jama 70l 2
(A) fyes
(B) a9
(C) a9 @3 e Tz
(D) THAE @R 7w

13. “wze 77 fF2 929 9§ '— 3 T’ (@I o0
[V 2RAC@?

(A) T3

(B) #9377

(C) J2HFUE GoAfer
(D) =Icwa Cofzn

14. “GfFReFey oy 7 — @2 oghd el
ET—
(A) (=
(B) T&w
(C) SHriaAl
(D) Sit@et

15. I TS Spifeam wgha oae Ew—
(A) @&
(B) ©ig
(C) dred
(D) IR

16. RIS C WOIOR Tore A NHe TE—
(A) TR
(B) kel
(C) T
(D) TAES @R T



17. “The content of illusory cognition is both real
and unreal” — is advocated by—

(A) Yogacara school

(B) Visistadvaita school
(C) Samkhya school

(D) Advaita Vedanta school

18. Syadvada is the—
(A) Epistemological theory of Buddhists
(B) Epistemological theory of Vedantins
(C) Epistemological theory of Jainas
(D) Metaphysical theory of Jainas

19. Which Indian philosophers hold the view that
whenever knowledge arises it reveals itself, its object
and the subject?

(A) Bhatta Mimamsakas
(B) Naiyayikas

(C) Advaita Vedantins

(D) Prabhakara Mimamsakas

20. Consider the Assertion (A) and Reason (R) and
select the correct answer from the codes given below :

Assertion (A) : The hill is smoky.

Reason (R) : The hill is fiery and all fiery
objects are smoKky.
Codes:

(A) (A)istrue and (R)is flase and (R) is not the
correct explanation of (A).

(B) (A) is true and (R) is true.
(C) (A)is false and (R) is true.

(D) (A) is false, (R) is false and (R) is the
correct explanation of (A).

X-7 09-11

17. ‘T [R99 e @R o o1’ — @3 $red
AT J(ET—
(A) 9N T==w
(B) [f*Bitae sremix
(C) AR FT==wi™

(D) Si(@® (@AW =W

18. VAW 2 —
(A) (@awe Sielfes Todm

(B) @WBIME @ITelfgs oM

(C) TEvd SiTolfed Toin
(D) CoE Sifafvs Tedm

19. @I SR v W G2 o T FCE @,
T3 @I ey =@, (It e, e e a3
WOIF AP F 2

(A) ©IG T
(B) CTafes

(C) Sitze (@wig!
(D) ArSFA-TRAE

20. zfeeERIF (A) 9 @R (R)-a3 “IfRcefFce
0y e Mol (@A AT Teal @z e ¢
2@ (A) ¢ S GRIN
e (R)

2 oI AT Q3R e I
T T I |

TP ¢

(A) (A) 9] €3k (R) 2 @22 (R), (A)-43 Al
1=l T |

(B) (A) 31y €2 (R) 719 |

(C) (A) fyl @32 (R) 19 |

(D) (A) 2w, (R) f2m @R (R), (A)-a3 A5F
IR |
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21.

Consider the Assertion (A) and Reason (R), and

select the correct answer from the codes given below :

22,

Assertion (A) : Aquinas maintained a

difference between
philosophy and theology, faith
and reason.

Reason (R) : For Aquinas, philosophy
begins with a faith in God and
interprets all things as
creatures of God; and
theology begins with the
immediate objects of sense
experience.

Codes:

(A) Both (A) and (R) are true and (R) is the

correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the
correct explanation of (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is ture.

Following statements are either True or False.

Examine these and find the correct answer using the
given codes:

(a) St. Anslem rejected nominalism.

(b) St. Anslem accepted realism.

(c) St. Anslem followed Augustine’s doctrine
of divine illumination.

(d) St. Anslem wrote Proslogion but not
Monologion.

Codes:
(a) (b) (c) (d)

(A) False True True True

(B) False  False False True

(C) True True True False

(D) True False True False

X-8
21. afeeqRy (A) @32 e (R)-a7 Afafwre
fsferie wroel (& AT Teals e ¢
AT (A) ¢ STFEAP = Q3% «fog, Rt
3% I ST o112 e |
G (R) ¢ SUIFRACR T, w5 T 2
YRR PRI A 93 T8
g et G 23 i
;R gofog 2 Sfeere
slFs g @ v 27|
TLPO ¢

(A) (A) @32 (R) 7% G2 (R), (A)-7 A5 it |

(B) (A) 4= (R) 711 [5€ (R), (A)-7 A< i<yt
T

(C) (A) 7oy € (R) ftant|

(D) (A) T2 € (R) 195 |

22. wfiReIeemT= TG True) <2 F21( False) |
QT AT 0 T 2ne T red AYE AT Tad
ioE

(a) GG ST AEAM 2SI SRR |

(b) (T ST IBIAM 976 (AR |

(c) GTT ST SSPGEHT (ra 2F*w
IR |

(d) G SHGET™ gPeefes ferafae e
STCCET e <73 |

PO
(a) (b) (© (d)

(A) False True True True

(B) False False False True

(C) True True True False

(D) True False True False




23. Following statements are either True or False.
Examine these and find the correct answer using the
given codes :

(a) St. Aquinas considers God to be the first
efficient cause of everything.

(b) According to St. Aquinas, an infinite
regress of causes is possible.

(c) Socrates said, “An unexamined life is not
worth living.”

(d) Heraclitus wrote Timaeus.

Codes:

(a) (b) () (d)
(A) True False True False
(B) False True False True
(C) True True False True
(D) False True True False

24. Consider the Assertion (A) and Reason (R) and
select the correct answer from the codes given below:

Assertion (A) : Aristotle did not agree with
the two world theory of
Plato— the world of our
experience and the world of

forms.

Reason (R) : For Aristotle, forms do not
exist independently of things
as they always belong to a
thing. Forms do not inhabit
separately in the world of

forms.

Codes:

(A) Both (A) is true and (R) is true, and (R) is
the correct explanation of (A).

(B) Both (A) is true and (R) is true, and (R) is
not the correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

X-9 09-11
23. ERRS IeSH = 797 (True) <7 F20 (False) |
QR 21 B W0F 24va FLFred AR AT Ted

e ¢

(a) CTD SNIPEAPT FAF 7afegd fire el
BIGRICKRSICON!

(b) G5 SHIFNCE WO, FIACET ST (=
TG |

(c) oA A (F, “An unexamined life is
not worth living.”

(d) CZRIFEMT GIMR7 w0 |

TP :

(a) (b) (c) (d)
(A) True False True False
(B) False True False True
(C) True True False True
(D) False True True False

24. FfoE@RT (A) @R &7 (R)-437 sfacafwcs

ey Tifte wroaf (@ Aos Teal e ¢
gfeerar (A) ¢ Syfzeose (2% - sres
A AT Zefel— Sfeeaeiq
TR IR SR Tl |
Few (R) ¢ SHIfPLLER o, SFE I8

(AT FOISIE GgAle w7
PG O AT AT (I
TN TET DG5S | S
TSI NBICID G900 A
FE A

P ¢
(A) (A) G (R) T2 7] €<% (R), (A)- AF
[T |

(B) (A) 9k (R) Toxg 79 {5 (R), (A)-A A0S
[P T |

(C) (A) 7%y, € (R) |
(D) (A) e, € (R) 795 |
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25. Match List-1 with List-II and select the correct

answer from the codes given below :
List-1 List-11
(a) The Allegory of the cave (i) Democritus
(b) All things are in a flux  (ii) Aristotle
(¢) The unmoved mover (iii) Heraclitus

(d) Nature of things consists (iv) Plato
of infinite number
of atoms

Codes :

@ M (© @
(A) (1) (@v) (@) (iid)
B) (O (@) @(v) (1)
©) Giy (@) (i) (iv)
(D) (v) (i) (@) (@)

26. The prominent Sophists were—
(A) Parmenides and Democritus
(B) Socrates and Plato
(C) Protagoras and Gorgias
(D) Anaxagoras and Thales

27. Match List-1 with List-II and select the correct
answer from the codes given below:
List-1 List-11
(a) The Third Man argument (i) Socrates
(b) Man is the measure (i) Arnstotle
of all things

(c) Perception is not (iii) Protagoras
knowledge

(d) Knowledge is virtue
Codes :

@ M @© @

(A) () i) (i) @[v)
(B) (1) (i) @Gv) (1)
© ) i) @Gv) (i)
(D) (i) (i) (1) (@v)

(iv) Plato

X-10

25. OIfFprl 93% OIfep11-93 (&G (el @3 ey
ATE FLF© FIZT T AT (&NC el T 2

©IferR)-1 ©IfermL-11

(a) QT TS () CSETEs™
(b) T f&fem @30 (ii) SHIfEo5e

ARRS A W&y =
ORRICEIEKNCE) (iii) 2RO
(d) ITw AFhe SHI AAGF  (iv) (2T

stzenle] e sifde

RCPO :

(@ () (© (@
(A) (1) @v) () (i)
B) () i) @Gv) (i)
©) G (@) (1) (@v)
(D) Gv) (i) () (1)

26. REB ENRFHA 2ET—
(A) SARRMEET @R wEfEsm
(B) &L @R (2!
(C) (2B @R ST
(D) SIIRFAICARRT QIR (LT

27. GIfFRLl 3R ORIl 93 (SIS (e @3 &
ATE ALF© IR I AGF (GG ez 67 ¢

Oifer-1 Olferet-11
(2) PO W< e (i) ACFH
(b) W < gz AfEoT (i) SHIREOsE
(c) SfHATeA @I 7 (iii) CHAGaNE
(d) w@INE TeFB i (iv) &G
PO

(@ () (© (@
(A) (1) @G @) Gv)
(B) (i) i) @Gv) @)
© @ @) @Gv) (i)
(D) i) () @ @v)




28. Which of the following is not authored by
Aristotle?

(A) De Interpretatione
(B) Prior Analytics
(C) Phaedo

(D) Metaphysics

29. Which of'the following statements is associated
with Spinoza?
(A) Mindandbodyaretwoindependent entities
in perfect harmony with each other.

(B) Mind and body interact and there is a
causal relation between the two.

(C) Mind and body are two independent
substances but are two paralled
manifestations of the same reality.

(D) Mind is an epihenomenon of the body.

30. Match List-I with List-II and select the correct
answer from the codes given below :

List-1 List-11
(a) Leibnitz (i) theory of abstract ideas
(b) Kant (ii) Intellectual love of God
(c) Spinoza (ii1) Law of Sufficient Reason
(d) Locke (iv) Categoriesof Understanding
Codes :

(@ () (© (@
(A) i) Gv) () @
B) () (@@ @i1) (@v)
© Gv) () (@) (i)
D) @) (1) @Gv) (i)

X-11

09-11
28. fHferie 29 @0 SHRROSER @12 932
(A) (@ ST
(B) 2RI Sanfeifos]
(©) oy
(D) cbIfRAfers

29. fsferie Rgfowfr sty @b Feires s
7o/ 2

(A) T8 (72 7> FoF WM<, A GF FAEH A
TS |

(B) T € (12 T S A feri-alfofe
TFILE O} TSR W IRO-97 AR
TSI |

(C) "W ¢ (7 76 FoF 7; 58 98 T ud
TSI B |

(D) ¥ (7(2A T |

30. ©feprl €32 OfFRLI-4F (SIC Gl G2 e
2TE AL IR I AT (&IC el T ¢

o)1 Olfer-I1
(a) @iafes (i) RS e og
(b) 1% (i) EFF ofe Qi Slel
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31. Match List-1 with List-1I and select the correct
answer from the codes given below :

List-1 List-11
(a) Berkeley (i) Copernican Revolution in
the field of knowledge

(b) Descartes (i) Theory of innate ideas

(¢) Kant (iii) Esse est percipi
(d) Leibnitz (iv) Pre-established Harmony
Codes :

(@ () (© (@
(A) (v) (1) () (1)
B) @) Gv) (i) (i)
(©) () @) @v) ()
(D) (i) (1) @) (@v)

32. Consider the Assertion (A) and Reason (R), and
select the correct answer from the codes given below:

Assertion (A) : According to Hegel, there
must be in some sense an

identity of thought and being.

Reason (R) : Otherwise, the subject would
never have accessto the object
and we would have no
certainty about any of our
knowledge of the world.

Codes:

(A) Both (A) and (R) are true, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the
correct explanation of (A).

(C) (A)is true, (R) is false.

(D) (A) is false, (R) is true.
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33. Consider the Assertion (A) and Reason (R) and
select the correct answer from the codes given below:

Assertion (A) : Mind is an epiphenomenon
of body.
Reason (R) : No mental state or event is a
cause of any bodily state.
Codes:
(A) Both (A) and (R) are true, and (R) is the
correct explanation of (A).
(B) (A) is true, (R) is false and (R) is not the
correct explanation of (A).
(C) Both(A)and (R) are true, and (R) is not the
correct explanation of (A).
(D) (A) is false, but (R) is true.

34. Choose the correct answer from the codes given
below :

Assertion (A) : All our knowledge begins
with experience.

Reason (R) : All our knowledge arises out
of experience.

Codes :

(A) (A)istruebut (R)is false, and (R)is not the
correct explanation of (A).

(B) (A) and (R) are both true while (R) is the
correct explanation of (A).

(C) (A) and (R) are both false.
(D) (A) is false while (R) is true.
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35.

Choose the correct answer from the codes given

below :

Assertion (A) : The mind can never possibly
find the effect in the supposed
cause, by the most accurate
scrutiny and examination.

Reason (R) : The effect is in the cause, and
consequently can be
discovered in it.

Codes :

(A) Both (A) and (R) are true, and (R) is the
correct explanation of (A).
(B) (A) and (R) are both false.

(©) (A)istruebut(R)isfalse, and (R)is notthe
correct explanation of (A).

(D) (A) is false while (R) is true.

36. Following statements are either True or False.
Examine these and find the correct answer using the
given codes:

(a) Berkeley denied the existence of matter as
a metaphysical substance.

(b) Descartes did not accept any form of
metaphysical dualism.

(c) The distinction between impressions and
ideas was proposed by Spinoza.

(d) Locke posits ‘empty mind’ (a tabula rasa)
which is shaped by experience.

Codes:

(a) (b) (c) (d)
(A) True True False False
(B) True False True False
(C) True False False True
(D) False False True True
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37. How isthetheory of causal relation identified in
Hume’s philosophy?
(A) Regularity thoery
(B) Determinism
(C) Indeterminism
(D) Entailment thoery

38. Whatever is, is in God, and nothing can be or be
conceived without God: —Which theory is reflected in
the above statement?

(A) Mysticism
(B) Atheism
(C) Pantheism
(D) Agnosticism

39. Which of the following statements are true for
Berkeley?

(A) Wenever perceive anything called matter
but only ideas.

(B) Berkeley avoided Solipsism in his
philosophy by introducing the idea of God.

(C) Things exist through God’s perception of
them.

(D) All of the above

40. Which among the following is not true of
Spinoza’s God?
(A) God is eternal, self-causing, unique
substance.

(B) God is absolutely infinite, expressing
infinite power in many ways.

(C) God is reducible to nothing else.
(D) God is different from nature.

41. Which philosopher argues that if the existence
of God is possible, he must necessarily exist?
(A) Leibnitz
(B) Nietzsche
(C) Hume
(D) Russell
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42. Who amongst the following philosophers refute
innate ideas?
(A) Plato
(B) Leibnitz
(C) Locke
(D) Descartes

43. Which among the following philosophers have
divided knowledge into three types; viz — intuitive

knowledge, demonstrative knowledge, sensitive
knowledge?

(A) Plato
(B) Locke
(C) Spinoza
(D) Leibnitz

44. Devarna can be repaid by—
(A) Performing yajnia
(B) giving birth to a son
(C) Both (A) and (B)
(D) Neither (A) nor (B)

45. According to Jainism
abstaintion from stealing.

(A) Aparigraha
(B) Asteya
(C) Kaivalya
(D) Ahimsa

means
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46. Match List-1 with List-1I and select the correct
answer from the codes given below :

List-1
(a) Lokasamgraha

List-I1
(i) Buddhism
(ii) Srkrsna
(iii) Right knowledge
(iv) Right faith

(b) Samyagjhana
(¢c) Samyagdarsana
(d) Pancasila
Codes :
(@ () () ()
A) () @) @) @Gv)
B) G (i) Gv) @)
©) @) (Gv) (@) (i)
(D) @(v) Gi) aG) (@)

47. According to whom Lokasamgraha means the
social reform oriented education?

(A) Tilak

(B) Ambedkar

(C) Nehru

(D) D.D. Upadhayaya

48. ltikartavyata means
(A) Procedure of Brahmacarya
(B) Rules of Garhasthya
(C) Prapatti
(D) Procedure of performing duty

49. Metaethics is not directly interested in
(A) Analysing basic moral concepts
(B) Methodology of moral philosophy

(C) Applying a particular norm to some
specific situation

(D) Nature and functions of moral judgements

X-17
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50. Whose moral theory embodies the idea of
universalising ‘maxim’?
(A) J.S. Mill
(B) L Kant
(C) P. Singer
(D) H. Sidgwick

51. Which of the following is not true?
(A) According to preventive
punishment should be exemplary.
(B) Retributive theory demands ‘an eye for an

>

eye’.

theory

(C) Capital punishment can only be justified
in terms of Reformative theory.

(D) Preventive theory seeks to prevent
prospective crimes.

52. All of the following philosophers support some
version of utilitarianism except

(A) George Edward Moore
(B) Peter Singer

(C) John Stuart Mill

(D) Immanuel Kant

53. Which of the following is not at all a cognitive
thoery?

(A) Emotivism
(B) Naturalism
(C) Non-naturalism
(D) Descriptivism

54. Krishnamurti’s philosophy includes all of the
following except

(A) Freedom from the past

(B) Choiceless awareness

(C) Dualism of the outer and inner
(D) Becoming authentic self
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55. According to Igbal, the only way in which
God’s existence can be apprehended is

(A) Intuition

(B) Authority of the Quran
(C) Teleology

(D) None of the above

56. Allthe following facts are true about Gandhiji’s
concept of Sarvodaya except

(A) Sarvodayaisatermmeaning development
of all.

(B) Gandhi drew this title from John Ruskin’s
book Unto this Lust.

(C) Following Gandhi Vinoba Bhabe,
Jayprakash Narayan and others tried to
implement this.

(D) It is based on general Will.

57. The statement that “all problems of existence
are problems of harmony”— belongs to

(A) Gandhi
(B) Vivekananda
(C) Sri Aurobindo
(D) Tagore

58. The main components of D. D. Upadhyaya’s
integral humanism do not include

(A) Caturvarga Purusartha
(B) Western Values

(C) National unity as dharma, notto be decided
by plebisite.

(D) All of the above

59. Which of the following assertions is not true of
Maulana Abul Kalam Azad?

(A) He subscribed to Jinnah’s Two-nation
Theory.

(B) Hecalled foranunified independent India.

(C) Hewas personally close to Gandhi and his
political philosophy.

(D) All of the above
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60. Which among the following theories are related
to William James?
(A) Theory of mind-body relation
(B) Theory of stream of consciousness
(C) Idealism
(D) Rationalism

61. Heidegger’s Dasein is a
(A) thinking being
(B) material being
(C) worldly being
(D) spiritual being

62. “None can die on my death by proxy” is the
statement made by—

(A) Husserl
(B) Heidegger
(C) Sartre
(D) Jaspers

63. Neitzsche’s Will to Power is basically a drive
towards—

(A) Creation

(B) Transformation
(C) Destruction
(D) Preservation

64. The essence of the ‘new man’ is joyful wisdom
according to

(A) Sartre
(B) Husserl
(C) Neitzsche
(D) Heidegger
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65. According to Russell, physical objects are
(A) ideas
(B) meaningless entities
(C) 1illusions
(D) logical constructions

66. Consider the Asseration (A) and Reason (R),
and select the correct answer from the codes given
below :

Assertion (A) : Moore is the supporter of

commonsense.

Reason (R) : All our beliefs giving rise to
the commonsense view of the
world is false.

Codes -

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) (A) is true, (R) is false and (R) is not the
correct explanation of (A).

(C) Both (A) and (R) are true and (R) is not the
correct explanation of (A).

(D) (A) is false, but (R) is true.

67. Who stated, ‘Philosophy is a battle against
bewitchment of our intelligence by language’?

(A) Russell

(B) Moore

(C) Wittgenstein
(D) Heidegger
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68. Match List-I with List-II and select the correct
answer from the codes given below :
List-1 List-11
(a) Wittgenstein (i) The Ideational theory

(b) Locke (i) The Use theory

(c) Ayer (iii) Open-question argument

(d) Moore (iv) Theprincipleof Verification
Codes:

(@ () (© (@)
A) 1) @G (i) @v)
B) @) () @v) ()
© G @@ @v) (i)
D) @) (@v) (1) (i)

69. Consider the Asseration (A) and Reason (R),
and select the correct answer from the codes given

below :

Assertion (A) : According to the Principle of
Verification, meaning of a
statement is the mode of its

verfication.

Reason (R) : All the statements which
could neither be verified nor
falsified by experience, are
meaningful.

Codes:

(A) Both (A) and (R) are true, and (R) is the

correct explanation of (A).
Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(A)istrue, and (R)is false and (R) is not the
correct explanation of (A).
(A) is false, but (R) is true.

(B)
©

D)

70. It is true that A. J. Ayer

(A) wasinterested in determining the meaning
of the sentences.

(B) was interested in determining the
meaningfulness of the sentences.

(C) was interested in determining the truth of
the sentences.

(D) was interested in determining the falsity
of the sentences.
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71. Gilbert Ryle’s theory of ‘Ghost in the Machine’
rejects

(A) Descartes’ mind-body dualism
(B) Berkeley’s idealism

(C) Leibnitz’s monodology

(D) Spinoza’s pantheism

72. Regarding knowledge Ayeradvocated the view
that

(A) Knowledge is a special mental state
(B) Knowledge is a conscious state

(C) Knowledge is belief state

(D) Knowledge is a descriptive state

73. Following statements are either True or False.
Examine these and find the correct answer using the
given codes:

(a) Later Wittgenstein accepts
impossibility of private language.

(b) Descartes thinks that all monads are
spiritual.

the

(c) Ayer introduces ‘category mistake’.
(d) Ryle believes in logical atomism.

Codes :

(a) (b) () (d)
(A) True False True False
(B) False False False False
(C) True True True True
(D) True False False False

74. The theory ‘Ghost in the Machine’ is related to
(A) Theory of Life and Death
(B) Spritual theory of mind
(C) Official doctrine of mind
(D) Mysticism

75. “The Just and Victorious King administers
justice in accordance with dharma, Sanstha, Nyaya
and Vyavahara.”— Where do we find this statement?

(A) Arthasastra (3.1)
(B) Arthasastra (5.1)
(C) The Mahabharata
(D) Nitisara
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76. In which part of the Mahabharata we find deep
discussion and prescriptions of Raja-dharma?
(A) Bhisma Parva
(B) Vana Parva
(C) Santi Parva
(D) Svargarohana Parva

77. The Artha-sastra deals with
(A) State craft
(B) Economic policy
(C) Military
(D) All of the above

78. Niskama Karma means
(A) Detached attitude
(B) Attitude of attachment
(C) State of selflessness
(D) Both (A) and (C)

79. SecularisminIndiancontextmeansSarva-dharma
samabhava.— What does it mean?

(A) Religious co-existence
(B) Inter-religious tolerance

(C) Inter-religious acceptance
(D) All of them

80. Amartya Sen’s ‘Capability theory of Justice’
takes into consideration—

(A) The issue of individual disabilities in

converting resources into valuable
functionings.

(B) Thephenemonen of ‘adoptive preferences’
in which people can internalise the
harshness of their circumstances.

(C) Both (A) and (B)

(D) None of the above
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81. Dialectical Materialism does not include the
law of—

(A) Unity and Conflict of the opposites
(B) From quantity to quality

(C) Double negation

(D) The negation of negation

82. Who among the following does not advocate
‘Contract theory’?

(A) Jean — Jacuces Rousseau
(B) Thomas Hobbes

(C) Karl Heinrich Marx

(D) John Rawls

83. Arrange chronologically—

1. Plato’s theory of Justice
2. Berlin’s two-fold conception of Liberty
3. Rousseau’s Social Contract theory
4. Marx’s theory of History

(A) 1,2,3,4

B) 1,3,4,2

©) 3,1,4,2

D) 2,1,4,3

84. Which one of the following does not reflect
‘Feminism’?

(A) Women suffer system induced injustice
just because of being born as girls.

(B) Afeministbelievesinthe concrete equality
of women vis-a-vis men.

(C) Inordertorootoutthe mentality of sexism
we should reconstruct patriarchy.

(D) Any one, male, female or a third gender,

who supports antipatriarchal ideology, is
a feminist.
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85. To prove the validity of the following argument
which rules of inference are to be applied?

P>(Q>R)
Q
~R/ . ~P

(A) Modus Tollens, Conjunction, Modus
Ponens, Double Negation, Disjunctive
Syllogism

(B) Exportation, Modus Tollens, De Morgan,
Double Negation, Disjunctive Syllogism

(C) Conjunction, Modus Tollens, Double
Negation, Exportation, Disjunctive
Syllogism

(D) De Morgan, Exportation, Double
Negation, Modus Tollens, Disjunctive
Syllogism

86. What determines the mood of a categorical
syllogism?
(A) Position ofthe middle termin the premises.
(B) Position ofthe majorterminthe conclusion
(C) Number of propositions of the argument
(D) None of the above

87. Which of the following statement is true?

(A) A system of logic is complete if and only
if all valid arguments can be proved in the
system.

(B) A system of logic is complete if and only
if it follows the rule of concomitant
variation.

(C) A system of logic is complete if and only
if the axioms are consistent with each
other.

(D) A system of logic is complete if and only
if it has rules of inference.
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88. If X, Y and Z are false statements and the values
of A and B are not known would be the truth value of
the following statement—

[XVv(YeZ)]v~[(AvX)e(Z>DB)]
(A) True

(B) False

(C) Cannot be determined

(D) None of the above

89. What would be the truth value of the proposition
“All John’s children are asleep” in the Boolean
interpretation, when John has no child?

(A) False

(B) True

(C) Neither true, nor false
(D) None of the above

90. Match the following and identify the true one
from the codes given below :

List-1
(a) Laws of Thought
(b) Proposition

List-11
(i) Principle of Identity
(i1)) True or False
(c) Square of Opposition(iii) Contrary
(d) Logic
Codes:
@ () () (d)
A) () @) (@) @Gv)
B) (i) (i) @(v) (@)
(© i) Gv) (@) (i)
(D) (v) (i) () (@)

(iv) Reasoning

91. Which of the following is the correct
symbolization of the statement “every shop has a
buyer”, when Sx : x is a shop and B xyz means x buys
y from z?

(A) () [Sx 2 () (2) B xyz]
(B) () [Sx > (3y) (32) B yzx]
(©) ) [Sx o (v) (32) B xzy]
(D) () [Sx o @3y) (32) B xyz]
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92. Match List-I and List-1I and select the correct
answer from the codes given below :
List-1
(a) Some horses are
gentle and have
been well trained.
(b) Any horse is gentle (ii) (x) [(Hx o Tx) D Gx]
if it has been well
trained.
(¢) Well trained horses (iii) (x) [Hx D> (Tx > Gx)]
have all been gentle.
(d) Any horse that is
gentle has been
well trained.

Codes:

(@ () (© (@
(A) (1) (i) (@v) (i)
B) Gii) () @) (v)
©) Giy (@) (i) (iv)
(D) (v) (i) (@) (1)

List-11
(1) (x) [(Hx e Gx) D Tx]

(iv) (Ix) [(Hx e Gx) e Tx]

93. Considerthefollowing Assertion (A)and Reason

(R) and select the correct answer from the codes given
below :

Assertion (A) : A categorical syllogism
commits the Existential
Fallacy when the conclusion
asserts the existence of entities
whose existence was not

asserted in the premises.

Reason (R) : The particular preposition
asserts the existence of entities
of the subject term.

Codes:

(A) Both (A) is true and (R) is true, and (R) is
the correct explanation of (A).

(B) Both (A) is true and (R) is true, but (R) is
not the correct explanation of (A).

(C) (A)is false and (R) is false, and (R) is not
the correct explanation of (A).

(D) (A) is false and (R) is true, and (R) is the
correct explanation of (A).
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94. “From any true substitution instance of a
propositional function, we may validly infer the
existential quantification of that propositional
function.”— Identify the rule.

(A) Universal Instantiation
(B) Existential Generalization
(C) Universal Generalization
(D) Existential Instantiation

95. Which among the following is not a moral
question of surrogacy?

(A) Cansurrogate mother claim the custody of
the child born out of surrogacy?

(B) Does the practice of surrogacy encourage
baby selling?

(C) Does the mother need to belong to a
particular community?

(D) Doesthepractice exploit marginal women?

96. The Hipocratic Oath implies all ofthe following
mid-level principles except

(A) Patient autonomy
(B) Justice

(C) Beneficence

(D) Non-maleficence

97. All of the following are criteria of applied
philosophy except
(A) Relevance to our everyday life.

(B) Motivation to initiate some concrete

change.
(C) Engagement with

speculations

other-worldly

(D) Informed by latest knowledge of sciences.

98. Media Ethics does not belong to
(A) Professional ethics
(B) Metaethics
(C) Sociopolitical ethics
(D) Applied ethics
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99. Philosophical counselling can help a client by

(A) clarifying, articulating and helping him to
comprehend the conceptual aspects of
his/her belief system.

(B) giving only psychological advice like a
psychiatrist.

(C) brain washing the patient.

(D) None of the above

100. Democratisation of technology means—

(A) Having democratic governments to
welcome technology.

(B) The process by which the access to
technology rapidly continues to become
more accessible to more and more people.

(C) Expandingtechnological designtoinclude
alternative interests and values.

(D) Both (B) and (C)
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